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Purity measurement 17

o Sample
— data15 : h012 3245ipb
— data16 : h012 3568ipb

— sherpa : h012 100-160

« Categorization
— 13 categories
— no event in VHdilep
— 3 eventin VHlep

« used to spurious signal
— request from Huijun...

di-photon selection
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Er * significance
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Low-mass two-jets tight
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2x2 sideband | | C D

— both leading/subleading photoncan .- ________________________________
be splitted into 4 regions |

— totally we have 16 regions AAAB......

Parameters

tight efficiency e I

- (2)
I _ﬁ_. . + 1'1‘}];fL frfriener:
SO e IClency A 1"";}?1‘]{;1f}lf,:zfi:"szjj i
tight fake rate  vher
* €7, and e are the efficiencies of the isolation criteria of one of the six analysis under study for the
ISO fa ke rate leading and subleading photons respectively. They are determined from the di-photon simulation;

* e7) and €73 are the Tight identification efficiencies for the leading and subleading photons respect-

yield Of yy yj jy jj ively, also determined from the di-photon simulation;
J J J

* f;1 and f;, are the isolation fake rates for the yj and jy events, fitted directly on data;

* fr1 and fr are the Tight identification fake rates for the yj and jy events, fitted directly on data;
¢ f;, and f/, are the isolation fake rates for the jj events, fitted directly on data;

* fr, and f7., are the Tight identification fake rates for the jj events, fitted directly on data;

* £ is the isolation correlation factor between the jets in the jj events, fitted directly on data.
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16 equations

4 known parameters
— tight ID effciency
— |so effciency

— from yy MC

13 free parameters

fy f

_ wl'L
Nrimi= W5~ €r1€r1 €267
AL o
+ Wi enerijfnfr
L
+ W, " frijri€ner:

LA o -t o pd 0
+ Wi m fnfrfndréii

— yield of yy,yj,jy,jj in LL region

— 8 fake rate

— isolation correlation factor in jj event

constrain by data
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fake factor gam-jet and jet-gam 21
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fake factor in jet-jet event 22
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« leftis 2015, right is 2016
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